LaampIon

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: 362

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-80
1 04040401010 Maiika M5 2 21 | 040314001 Onopa Bo3aywHoro ¢puabTpa 1
2 0404010402303 | bonT M5x12 2 22 | 0404010401110 | Bont M5x50 2
3 04060901003 lnywutens 1 23 040307045 Kap6topatop 1
4 04060307002 Mpoknagka raywurtena 1 24 | 040206005 Hanpasnsatowasn suHta T 1
5 04040102002 bonTt KpenneHusa rnywntena M5x85 2 25 040608001 IMnb3a KosieHa KapbtopaTopa 1
6 0404010402357 | bont M5x20 4 26 | 040136001 MpoKknazKa nog KapbtopaTtop 1
7 L7T CBeya 3aKuraHus 1 27 04060302001 Mpoknazka nog Kapbtopatop 1
8 040313063 Unnnngp 48 mm 1 28 | 04060304001 MpoKnazka TennonsonATopa 1
9 04060303001 MpoKnagKka noa KoneHo 1 29 0404010402303 | bont M5x12 2
10 | 040202003 KoneHo kapbiopatopa 1 30 | 04060305003 MpoKknagka umanHapa 1
11 | 040123001 Tennounsonatop 1 31 040309003 MNopwHesoe KonbLo 48 mm 2
12 | 0404010402306 | bonT M5x14 1 32 | 040311002 CTOnopHOE KoAbLo 2
13 | 0404010402306 | bont M5x14 3 33 | 04040203001 LWariba nanbua 2
14 | 040104119 KpblwWwKa umunmHapa 1 34 | 040310004 Manew, nopwHsA 1
15 | 040130045 MaliKa KpenaeHus KpblWwKK ¢uabTpa 1 35 040308007 MNopweHb 1
16 | 040103107 KpbiwKa Bo3gyLwHoro puabrpa 1 36 | 030501017 KoneHsan 1




LaampIon

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX Yactei Mogenb: 362
17 | 0404010402357 | BonT M5x20 2 37 | 040405001 LLInoHka 3x10
18 | 040147006 3arnywkKa 3Mma-neTo 1 38 | 04035402013 NoawunnHuk nanbua 10x15x12,5
19 | 040124004 Bo3gywHbIn duabtp 1 39 030501012 MopweHb KOMNAEKT 48 Mm
MpoknagKa noa BO34yLHbIN MNopwHeBas rpynna 48 mm
20 | 040207203 POKNAAKaE NOA BOSAY 1 | 40 | 030501016 P Py
duneTp KOMMNAEKT (BK/loYaeT
Ne8,31,32,34,35)




LaampIon

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX Yactei Mogenb: 362

{ oy
., v,
Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-Bo ApTUKyn HanmeHoBaHue
1 030501018 KpblilwKa wWuHbl B cbope 1 15 040403025 Hanpasnsatowan nanbua 1
2 060103018 KpbllWKa WnHbI 1 16 | 040403021 BTynka 2
3 0404010402206 | BuHT 4x8 5 17 | 040108047 Pyuka Topmosa 1
4 040606002 BokoBoW auct 1 18 | 040120103 JononHUTeNbHbIN TOPMO3HOM 1
pblyar
5 040118004 MnNaHKa KPbIWKK LWNHbI 1 19 04040203004 CTonopHas waliba 1
6 040409403 Maneu HaTAXKeHUA uenu 1 20 | 040612001 OrpaHuuutens 1
7 040409501 Beayuwias wectepHA HaTAXUTENA 1 21 040403023 MNanev, 1
uenu
8 040409303 bonT HaTAXKUTeNA uenu 1 22 04100609003 Mpy*KMHa py4yKkM TOpMO3a 1
9 04100606020 JleHTa Topmo3a 1 23 | 04040201003 LWariba 1
10 | 04100607004 [ononHnTenbHas npyxuHa 1 24 | 04040203001 CTonopHas waliba 1
11 04040401012 [aliKa KPbILLKK WKHbI 2 25 040212001 BTynka pyyku Topmosa 1
12 040120003 OCHOBHOW TOPMO3HOW pblyar 1 26 | 040117003 KpbllWwKa mexaHM3ma Topmosa uenu 1
13 04040203002 CronopHas wariba 1 27 040607001 Pbiyar ocHOBHOWM NpyXuHbI 1
14 | 040403009 Manew KpenneHUsa py4ykn Topmosa 1 28 | 04100607003 OCHOBHaA Npy»XMHA TOPMO3a 1




LaampIon

Power & force

NnnocTpnpoBaHHbIM

KaTanor 3anacHbIX YacTen

Mogenb: 362

o

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-e0
1 MpoBoOA BbIKAOYEHMA 3aXKUTAHUA 1 18 | 04040106003 BuHT 4,8x20 1
2 040504002 BbIKNtOYaTeNb 3aXKUraHUA 1 19 040207003 YNAoTHUTENbHOE KONbLO 1
3 040215001 KpblwWwKa BbikAOYaTena 1 20 | 040112005 Mpobka TonameHoro 6aka 1
4 040114001 3arnywka amopTmsaTopa 2 21 040113001 [Jepkatenb npobKu 1
5 04040107002 bonT KpenneHua amopTmsaTtopa 2 22 040201401 3arnywka 1
6 030501019 Kopnyc TonnmeHoro 6aka 1 23 040122025 Pbluar BO34yLWHOM 3aC/IOHKM 1
KOMNNEKT

7 040105046 Kopnyc TonaneHoro 6aka 1 24 | 040213005 YnnoTtHeHue pblyara 1
8 040217001 YnnoTHeHWe canyHa 1 25 04100610003 Tara rasa 1
9 YD3800-18010 CanyH TonansHoro 6aka 1 26 | 040214005 Hanpasnsatowasa tarm 1
10 | 040201003 AmopTnsaTtop 2 27 04040106002 BuHT 4,8x16 4
11 04100611003 Mpy*KMHa KypKa rasa 1 28 | 040318038 TpybuaTtan pykoaTKa 1
12 040127047 Kypok rasa 1 29 04040106002 BuHT 4,8x16 1
13 04010604 Haknapgka 3agHel pyKoATKM 1 30 | 04100604001 AmopTunsatop 1
14 | 040126044 MpeaoxpaHuTenb KypKa rasa 1 31 040133003 Cean10 NPYKUHbI 1
15 040403001 LUTndT KypKa rasa 1 32 040610001 OrpaHuunTens amopTtusaropa 1
16 | 040203209 LLinaHr TonAnBHbIN 1 33 | 0404010401114 | bonT M5x10 1
17 | 4007001201 ®unbTp TONAMBHBIN 1 34




LaampIon

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: 362
'a 3 ™
1 ot go”
2
LS vy
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-eo
1 040322026 KOKyX KpbI/Ib4aTKM MaXOBMKa 1 8 040109103 BbapabaH cTapTepa 1
2 030501014 Craptep B cbope 1 9 04100601003 Bo3BpaTHasA npy»xuHa 1
3 04040106002 BuHT 4,8x16 1 10 040206002 Hanpasnawowan BMHTOB 1
KapbropaTopa
4 04040201002 LWlan6a 5x16x1,5 1 11 040102043 Pyuka ctaptepa 1
5 040117003 Mnata Npy*KuHbl 1 12 040101211 KpblwKa cTapTepa 1
6 040109004 XpanoBuK cTapTepa 1 13 0404010402306 | bonTt M5x14 4
7 04100602004 Mpy*KMHa xpanoBurKa 1 14




LaampIon

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: 362

I,

*‘5—————22 21
]

3

Ne ApTUKYN HanmeHoBaHue K-s8o Ne ApTUKYN HanmeHoBaHue K-eo
1 060101003 JleBasa nonosBmHa KapTepa 1 13 040501229 MarHeto 1
2 040114103 3arnywKa amopTmsaTopa 2 14 | 040210001 3alUNTHbBIN KONNAYyoK 1
3 040201103 AMopTU3aTOp PE3MHOBbLIN 2 15 04040207001 CTonopHoe Ko/bLo 1
4 04040106002 BuHT 4,8x16 2 16 03090010016 MoawunnHmK KoneHsana 6202 1
5 5090021528 CanbHuK KoneHsana 15x28x4,5 1 17 040317001 LUTyuep MmnynbcHOro KaHana 1
6 040602001 KpbllWwKa canbHUKa 1 18 04100612005 XomyT wnaHra 2
7 0404010402206 | Bont M4x8 2 19 | 040205002 MMNyAbCHbIN WAaHr 1
8 0404010402351 | bont M5x25 5 20 | 040138001 3alUNTHBIN KeMBPWK WIaHra 1
9 040502020 MaxoBuK 1 21 04060306003 MpoKnagka KapTepa 1
10 | 04040401004 lalika M8 1 22 040206006 Haknagka KapTepa 1
11 040207102 YNNOTHUTENbHOE KONbLLO 1 23 040209001 3awumTa ot NbiAn 1
12 040111006 Mpobka macnsHoro 6aka 1 24 | 040201301 AMoOpTU3aTOP N1EBOWN NONOBUHDI
KapTepa




LaampIon

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: 362

2
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyN HanmeHoBaHue K-80
1 04070101089 MpaBas NonoBMHA KapTepa 1 19 040139002 YnaoTHeHMe macnoHacoca 1
2 5090021535 CanbHUK KoneHBana 15x35x4,5 1 20 0404010402205 Bont M4x10 3
3 03090010016 MoAawunnHMK KkoneHsana 6202 1 21 040116004 YepBaK npMBoAa macnoHacoca 1
4 04100612004 CTronopHoe KoAbLO canyHa 1 22 04035401003 MoawwnnHuk 6apabaHa cuenneHuns 1
5 040139001 ®dunbTp canyHa 1 23 1200002 3Be3aouyKa Beaywan 0,325" 1
6 040211001 KnanaH canyHa macnsHoro 6aka 1 24 | 040304003 bapabaH cuenneHus 1
7 04040101004 LUInnabKa WuHbI 2 25 | 04040206003 3almnTHanA waiba 1
8 0404010401114 | bonT M5x10 2 26 | 040301008 CuenneHne KOMNNEKT 1
9 040604003 3ybyaTbiii ynop 1 27 KpectoBuHa 1
10 | 040118004 Hanpasnsatowasa uenum 1 28 LleHTpobeXKHbIN rpy3nk 3
11 | 040605003 BokoBoW anct 1 29 MpyKnHa cuenneHns 1
12 | 0404010402205 | bont M4x10 1 30 | 040320001 MacnsaHbii GunbTp 1
13 | 04060301002 Mpoknazka noa 60KOBOW AUCT 1 31 | 040203103 BcacbIBatoLWMn MACASHBIN WAAHT 1
14 | 0404010402306 | bont M5x14 1 32 040114103 3arnywka amopTmusaTtopa 1
15 | 040134005 Ynosutenb uenu 1 33 | 04040106002 BuHT 4,8x16 1
16 | 040203003 HanopHbIN MacnaHbIW WaaHr 1 34 | 040201103 AMopTU3aTOp pe3nHOBLIN 1
17 | 040315003 MacnoHacoc 1 35 040403017 LWtnoT KapTepa 3
18 | 040115007 KpblWwKa macnoHacoca 1 36 | 040201201 AMOpPTU3aTOP NPaBOW NOJIOBUHbI 1

KapTepa




